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1.1 �������

�� 1.1 ������������ AB � DE ��� BC � EF ���CD �

FA ��������� ACE ���� BDF ������

A B

C

DE

F

����� ABCDEF ����������	�
�

�ACE

= ABCDEF −�AEF −�ABC −�CDE

= ABCDEF − (ABEF −�ABE) − (ABCD −�CDA)− (CDEF −�CEF )

= ABCDEF − (ABEF + ABCD + CDEF ) + �ABE + �CDA + �CEF ;

�BDF

= ABCDEF −�BCD −�DEF −�FAB

= ABCDEF − (ABCD −�ABD) − (CDEF −�CDF )− (ABEF −�BEF )

= ABCDEF − (ABEF + ABCD + CDEF ) + �ABD + �CDF + �BEF.


�

AF//CD, AB//DE, BC//EF,

�
������

�CDA = �CDF, �ABE = �ABD, �CEF = �BEF.

������������ ACE ���� BDF ������

�������������������� ABDE����


�APE = �BPD.
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���

�BQF = �CQE, �ARC = �DRF.

�	�


�ACE = �ARC + �APE + �CQE + �PQR

= �DRF + �BPD + �BQF + �PQR

= �BDF.

A B

C

DE

F

P
QR

�������������� ABCDEF �������� MNO�
�

BC//NO, AF//OM, ED//MN,

�
�
�

MB

MN
=

MC

MO
=

a

1
,

NA

MN
=

NF

NO
=

b

1
,

OE

ON
=

OD

OM
=

c

1
.

�	�


�ACE = �MNO −�MAC −�NAE −�OCE

= (1 − a(1 − b) − b(1 − c) − c(1 − a))�MNO

= (1 − a − b − c + ab + bc + ca)�MNO.

����

�BDF = (1 − a − b − c + ab + bc + ca)�MNO,

���

A B

C

DE

F

N M

O

�
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1.2 �����

�� 1.2 ������� ABC ���������

∠A = 20◦,∠DBC = 60◦,∠ECB = 50◦.

�� ∠EDB =�
A

B C

D

E

60◦ 50◦

20◦

��������� AC ���� K 
� ∠KBC = 20◦�

(1) BK = BC�

��
� ∠BKC = 180◦ − 20◦ − 80◦ = 80◦ = ∠BCK�

(2) ��� KBE ������

� ∠CEB = 180◦ − 80◦ − 50◦ = 50◦ = ∠BCE � BC = BE�� ∠KBE =

80◦ − 20◦ = 60◦����
���� KBE ������

(3) KB = KD�

� ∠KDB = ∠CDB = 180◦ − 60◦ − 80◦ = 40◦ = ∠KBD �


(4) B,E,D�
K ����KD�������
	���� ∠EDB = 1
2∠EKB =

1
2 × 60◦ = 30◦�

A

B C

D

E

50◦

20◦

K

20◦
40◦

��������
 A ����AB ������	���	����� ABC �
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��
������� AC1B � ACB1�� H ��� AB1 �����
��	�

C1E,ED,DH ��������������������
�C1, E,D,H ���

��

(1) ��� AC1B1 ������

��
� ∠C1AB1 = 3∠BAC = 60◦ � AC1 = AB1�

(2) � C1, E,D,H ������ C1H ⊥ AB1�


�H � AB1�������� AC1B1�������
�� C1H �����

�� AB1 ���� ∠AC1B1��
� ∠AC1E = ∠ACE = 80◦−50◦ = 30◦��


E��� C1H �������ADB�
� ∠ABD = 80◦−60◦ = 20◦ = ∠DAB�

�
 AD = DB = DB1�
	�D �� C1H ��

(3) ∠EDB = 30◦�
�����C1DB�
�∠DC1B = ∠ECB = 50◦, ∠DBC1 = ∠EBC1+∠DBE =

80◦ + (80◦ − 60◦) = 100◦��
 ∠EDB = 180◦ − 50◦ − 100◦ = 30◦�

A

B C

E

D

C1 B1

H

��������� EBC�
� ∠CEB = 180◦ − 50◦ − 80◦ = 50◦ = ∠BCE��


BE = BC�� ∠EDB = θ��� ∠BED = 160◦ − θ������ BED ����

BCD���������

BD

sin(160◦ − θ)
=

BE

sin θ
,

BD

sin 80◦
=

BC

sin 40◦
.


� BE = BC��


sin(160◦ − θ)
sin θ

=
sin 80◦

sin 40◦
= 2cos 40◦.

�������


sin 20◦ cos θ + cos 20◦ sin θ = 2cos 40◦ sin θ.
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tan θ =
sin θ

cos θ

=
sin 20◦

2 cos 40◦ − cos 20◦

=
sin 20◦

2 cos(60◦ − 20◦) − cos 20◦

=
1√
3
.

�	�
 θ = 30◦� �

�� 1.1 ���������������

(1) ��� GFD � GBC ������

(2) ��� BEC,BEG � EFG �������

(3) ��� EFD � EGD ���

(4) �� ∠EDB =�

A

B C

D

E

60◦ 50◦

20◦
F

G

�����

������������������������ BDF ���
���

ABCDEF ���� B′D′F ′ ���	�����	���
�� 1.1 ������

B′D′,D′F ′, F ′B′ �����

C

A

F

B

DE

B′

D′

F ′
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���

��� ABC ��������� ∠A = 20◦, AB = AC�P � AC ��� AP = BC

������ ∠PBC =��� ��������
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